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1D pull distribution

(ppb)

corr_Adet_evMonl
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(ppm)

corr_Adet_evMon3 RMS
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1D pull distribution

11.55/53 H

X2 / ndf

(ppb)
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1D pull distribution
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corr_Adet_evMon6 (ppb) 1D pull distribution
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1D pull distribution
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corr_Adet_evMon7 RMS
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corr_Adet_evMon8 RMS
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corr_Adet_evMon9 RMS
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corr_Adet_evMonl10 RMS
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corr_Adet_evMonll RMS
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p0 ~99.95 + 313.4
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1D pull distribution
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Mean —0.006428 +0.1248

Std Dev 0.9169 + 0.08823

Underflow 0
Overflow 0
X2 I ndf 6.377/5
Constant 1167 £2.17
Mean 0.04658 + 0.17754
Sigma 0.9063 +0.1383
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1D pull distribution

Mean  0.003947 + 0.1559

12- StdDev  1.146 + 0.1103
F Underflow 0
10 Overflow 0
i X2 / ndf 4561/8
B Constant 10.42 + 2.08
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o Mean -0.1518 + 0.1498
| Sigma 1.018 + 0.152
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corr_usr_evMon7 (ppb) 1D pull distribution
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